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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] vU;Fkk 

ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA ÁR;sd 

Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj lgh gSA ftl 

mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. ANSWER SHEET) 
esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA ;fn fdlh ijh{kkFkhZ }kjk 

fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy fd;s x;s ÁFker% ;Fkk fufnZ”V 

Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus gSaA 

mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh i”̀B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj 

ysaA 
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1. How many total Articles are there in Indian 
constitution? 
(A) 275 
(B) 395 
(C) 445 
(D) 484 

 1. Hkkjrh; lafo/kku esa dqy fdrus vuqPNsn gSa\ 
(A) 275 
(B) 395 
(C) 445 
(D) 484 

2. What is the short title of the Indian Constitution? 
(A)   Constitution 
(B) Constitution of India 
(C) Indian constitution 
(D) Constitutional law 

 2. Hkkjrh; lafo/kku dk laf{kIr uke D;k gS\ 
(A) lafo/kku 
(B) Hkkjr dk lafo/kku 
(C) Hkkjrh; lafo/kku 
(D) laoS/kkfud dkuwu 

3. The constitution of India was drafted and enacted 
in which language? 
(A)   Hindi 
(B) English 
(C) Tamil 
(D) Telugu 

 3. Hkkjr dk lafo/kku fdl Hkk”kk esa rS;kj vkSj vf/kfu;fer 
fd;k x;k Fkk\ 
(A) fganh 
(B) vaxzsth 
(C) rkfey  
(D) rsyqxw 

4. FPTP means- 
(A)   First prior the post 
(B) First past to prior 
(C) First parliament to post 
(D) First past the post 

 4. FPTP dk vFkZ gS& 
(A)   First prior the post 
(B) First past to prior 
(C) First parliament the post 
(D) First past the post 

5. In Rajya sabha, the representation of states is- 
(A)   Based on equality 
(B) Not based on equality 
(C) Unlimited 
(D) None of the above 

 5. jkT; lHkk esa jkT;ksa dk izfrfuf/kRo gS& 
(A) lekurk ij vk/kkfjr 
(B) lekurk ij vk/kkfjr ugha 
(C) vlhfer 
(D) buesa ls dksbZ Hkh ugha 

6. ‘Office of profit’ is defined in which article of the 
Indian constitution? 
(A)   Article 102 
(B) Article 105 
(C) Article 191 
(D) Nowhere in the constitution 

 6. ^ykHk ds in* dks Hkkjrh; lafo/kku ds fdl vuqPNsn esa 
ifjHkkf”kr fd;k x;k gS\ 
(A) vuqPNsn 102 
(B) vuqPNsn 105 
(C) vuqPNsn 191 
(D) lafo/kku esa dgha ugha 

7. Who was the president of India at the time of 
imposing national emergency in 1975? 
(A)   Fakhruddin ali ahmed 
(B) Sarvepalli Radhakrishnan 
(C) Giani Zail Singh 
(D) Shankar Dayal Sharma 

 7. 1975 esa jk”Vªh; vkikrdky yxkus ds le; Hkkjr ds 
jk”Vªifr dkSu Fks\ 
(A) Q[k:n~nhu vyh vgen 
(B) loZiYyh jk/kkd̀”.ku 
(C) Kkuh tSy flag 
(D) ‘kadj n;ky ‘kekZ 

8. The Indian constitution is dedicated to- 
(A)   The constituent Assembly 
(B) The parliament 
(C) The whole society 
(D) The people of India 

 8. 
 
 

Hkkjrh; lafo/kku&&&lefiZr gS- 
(A) lafo/kku lHkk dks 
(B) laln dks 
(C) iwjk lekt dks 
(D) Hkkjr ds yksxksa dks 

9. Seventh schedule of the Indian constitution is 
associated with which of the following articles? 
(A)   Article 245 
(B) Article 246 
(C) Article 250 
(D) Article 255 

 9. Hkkjrh; lafo/kku dh lkroha vuqlwph fuEufyf[kr esa ls 
fdl vuqPNsn ls lacaf/kr gS\ 
(A) vuqPNsn 245 
(B) vuqPNsn 246 
(C) vuqPNsn 250 
(D) vuqPNsn 255 

10. In Indian constitution, the provisions for 
impeachment are given only for 
(A)   Prime minister of India 
(B) President of India 
(C) Chief justice of India 
(D) Lok Sabha speaker  

 10. Hkkjrh; lafo/kku esa egkfHk;ksx dk izko/kku dsoy&&&ds 
fy, fn;k x;k gS- 
(A) Hkkjr ds iz/kku ea=h 
(B) Hkkjr ds jk”Vªifr 
(C) Hkkjr ds eq[; U;k;k/kh’k 
(D) yksdlHkk v/;{k 
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11. Which of the following is known as “representative 
democracy”? 
(A)   Direct democracy 
(B) Indirect democracy 
(C) Central democracy 
(D) None of the above 

 11. fuEufyf[kr esa ls fdls ^^izfrfuf/k yksdra=** ds :Ik esa 
tkuk tkrk gS\ 
(A) izR;{k yksdra= 
(B) vizR;{k yksdra= 
(C) dsanzh; yksdra= 
(D) buesa ls dksbZ Hkh ugha 

12. Which among the following is described as 
‘Lawyers’ paradise? 
(A)   Constitution of India 
(B) Indian penal code 
(C) Criminal procedure code 
(D) Supreme court of India 

 12. fuEufyf[kr esa ls fdls ^odhyksa dk LoxZ* dgk x;k gS\ 
(A) Hkkjr dk lafo/kku 
(B) Hkkjrh; naM lafgrk 
(C) vkijkf/kd izfØ;k lafgrk 
(D) Hkkjr dk loksZPp U;k;ky; 

13. In which article of Indian constitution 
“Proclamation of Emergency” is defined? 
(A)   Article 352 
(B) Article 356 
(C) Article 360 
(D) Article 366 (18) 

 13. Hkkjrh; lafo/kku ds fdl vuqPNsn esa ^^vkikrdky dh 
mn~?kks”k.kk** dks ifjHkkf”kr fd;k x;k gS\ 
(A) vuqPNsn 352 
(B) vuqPNsn 356 
(C) vuqPNsn 360 
(D) vuqPNsn 366 ¼18½ 

14. Originally, how many schedules were there in 
Indian constitution? 
(A)   Seven 
(B) Eight 
(C) Ten 
(D) Eleven 

 14. ewy :Ik ls] Hkkjrh; lafo/kku esa fdruh vuqlwfp;ka Fkh\  
(A) lkr 
(B) vkB 
(C) nl 
(D) X;kjg 

15. A system of government in which supreme power 
is concentrated in the hands of one person is 
called- 
(A)   Democracy 
(B) Republic 
(C) Federalism 
(D) Autocracy 

 15. ,d ‘kklu iz.kkyh ftlesa loksZPp ‘kfDr ,d O;fDr ds 
gkFkksa esa dsafnzr gksrh gS] dgykrh gS& 
(A) tura= 
(B) x.kra= 
(C) la?kokn 
(D) ,dra= 

16. When was the constitution of India enacted? 
(A)   15th August, 1947 
(B) 26th January, 1950 
(C) 26th November, 1949 
(D) 2nd October, 1947 

 16. Hkkjr ds lafo/kku dks dc vf/kfu;fer fd;k x;k\ 
(A) 15 vxLr] 1947 
(B) 26 tuojh] 1950 
(C) 26 uoacj 1949 
(D) 02 vDVwcj 1947 

17. Which of the following election is/are conducted 
through FPTP system? 
(A)   Only Lok Sabha 
(B) Only Legislative Assembly 
(C) Both (A) and (B) 
(D) None of the above 

 17. fuEufyf[kr esa ls dkSu lk pquko ,QihVhih iz.kkyh ds 
ek/;e ls vk;ksftr fd;k tkrk gS\ 
(A) dsoy yksdlHkk 
(B) dsoy fo/kku lHkk 
(C) (A) vkSj (B) nksuksa  
(D) buesa ls dksbZ Hkh ugha 

18. Which of the following amendments of the 
constitution made it mandatory for the president 
to accept the advice given by council of 
Ministers? 
(A)   39th Amendment 
(B) 42nd Amendment 
(C) 49th Amendment 
(D) 44th Amendment 

 18. lafo/kku ds fuEufyf[kr esa ls fdl la’kks/ku us jk”Vªifr ds 
fy, eaf=ifj”kn }kjk nh xbZ lykg dks Lohdkj djuk 
vfuok;Z dj fn;k\ 
(A) 39oka la’kks/ku 
(B) 42oka la’kks/ku 
(C) 49oka la’kks/ku 
(D) 44oka la’kks/ku 

19. The president of India may be removed from his 
office on which of the following grounds? 
(A)   Proved misbehaviour 
(B) Incapacity 
(C) Violation of the constitution 
(D) All of the above 

 19. fuEufyf[kr esa ls fdl vk/kkj ij Hkkjr ds jk”Vªifr dks 
muds in ls gVk;k tk ldrk gS\ 
(A) lkfcr dnkpkj 
(B) v{kerk 
(C) lafo/kku dk mYya?ku 
(D) mijksDr lHkh 
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20. The state governments have no any say in 
respect of national emergency. This statement is- 
(A)   Incorrect 
(B) Correct 
(C) Partly correct 
(D) Partly false 

 20. jk"Vªh; vkikrdky ds laca/k esa jkT; ljdkjksa dk dksbZ 
vf/kdkj ugha gSA ;g dFku gS& 
(A) vlR; 
(B) lR; 
(C) vkaf’kd :Ik ls lR; 
(D) vkaf’kd :Ik ls vlR; 

21. On which of the following the national emergency 
cannot be proclaimed? 
(A)   War 
(B) External aggression 
(C) Armed rebellion 
(D) Internal disturbance 

 21. fuEufyf[kr esa ls fdl vk/kkj ij jk”Vªh; vkikrdky dh 
?kks”k.kk ugha dh tk ldrh gS\ 
(A) ;q) 
(B) ckgjh vkØe.k 
(C) l’kL= fonzksg 
(D) vkarfjd v’kkafr 

22. The constitution of India is- 
(A)   Highly federal 
(B) Highly unitary 
(C) Neither federal nor unitary 
(D) Partly federal and partly unitary 

 22. Hkkjr dk lafo/kku gS& 
(A) vR;f/kd la?kh; 
(B) vR;f/kd ,dkRed 
(C) u rks la?kh; vkSu u gh ,dkRed 
(D) vkaf’kd :Ik ls la?kh; vkSj vkaf’kd :Ik ls ,dkRed 

23. Which of the following system of government is 
based on doctrine of separation of powers? 
(A)   Presidential system 
(B) Parliamentary system 
(C) Both (a) and (b) 
(D) None of the above 

 23. fuEufyf[kr esa ls dkSu lh ‘kklu iz.kkyh ‘kfDr;ksa ds 
ìFkDdj.k ds fl)kar ij vk/kkfjr gS\ 
(A) jk”Vªifr iz.kkyh 
(B) lalnh; iz.kkyh 
(C) (A) vkSj (B) nksuksa 
(D) buesa ls dksbZ Hkh ugha 

24. The only president of india, who was elected un-
opposed, is- 
(A)   Dr. S. Radha Krishnan 
(B) Dr. Zakir Hussain 
(C) Neelam Sanjeeva Reddy 
(D) Fakhruddin Ali Ahmed 

 24. Hkkjr ds ,dek= jk”Vªifr] tks fufoZjks/k pqusa x, Fks] os gSa& 
(A) MkW- ,l-jk/kk d̀”.kuh 
(B) MkW- tkfdj gqlSu 
(C) uhye latho jsM~Mh 
(D) Q[k:n~nhu vyh vgen 

25. Article 360 has been invoked- 
(A)   Only one time 
(B) Two times 
(C) Three times 
(D) Never 

 25. vuqPNsn 360 ykxw fd;k x;k gS& 
(A) dsoy ,d ckj 
(B) nks ckj 
(C) rhu ckj 
(D) dHkh ugha 

26. Who is the ex-officio chairman of the Rajya 
sabha? 
(A)   Vice president of India 
(B) President of India 
(C) Home minister of India 
(D) Prime minister of India 

 26. jkT;lHkk dk insu lHkkifr dkSu gksrk gS\ 
(A) Hkkjr ds mijk”Vªifr 
(B) Hkkjr ds jk”Vªifr 
(C) Hkkjr ds xg̀ea=h 
(D) Hkkjr ds iz/kkuea=h 

27. The powers of the president of India are- 
(A)   Supra-Constitutional 
(B) Beyond the constitution 
(C) In accordance with the parliament of India 
(D) In accordance with the constitution of India 

 27. Hkkjr ds jk”Vªifr dh ‘kfDr;k¡ gSa& 
(A) lqizk&laoS/kkfud  
(B) lafo/kku ls ijs 
(C) Hkkjr dh laln ds vuqlkj 
(D) Hkkjr ds lafo/kku ds vuqlkj 

28. In Tata Iron and Steel company v. state of Bihar, 
AIR 1958 SC 452 the supreme court applied 
which of the following theories? 
(A)   Doctrine of territorial nexus 
(B) Doctrine of pith and substance 
(C) Doctrine of colourable legislation 
(D) None of the above 

 28. VkVk vk;ju ,aM LVhy daiuh cuke fcgkj jkT;] 
,vkbZvkj 1958 ,llh 452 esa loksZPp U;k;ky; us 
fuEufyf[kr esa ls fdl fl)kar dks ykxw fd;k\ 
(A) {ks=h; lEcU/k dk fl)kar 
(B) lkj vkSj rRo dk fl)kar 
(C) vkHkklh fo/kk;u dk fl)kar 
(D) buesa ls dksbZ Hkh ugha 
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29. How many offices can be exempted from the 
purview of the law? 
(A)   Only 5 
(B) Only 17 
(C) Only 51 
(D) No limit 

 29. fdrus dk;kZy;ksa dks fof/k ds nk;js ls NwV nh tk ldrh 
gS\ 
(A) dsoy 5 
(B) dsoy 17 
(C) dsoy 51 
(D) dksbZ lhek ugha 

30. Which of the following is not a feature of federal 
constitution? 
(A)   Concentration of government powers 
(B) Rigid constitution 
(C) Written constitution 
(D) Supremacy of constitution 

 30. fuEufyf[kr esa ls dkSu la?kh; lafo/kku dh fo’ks”krk ugha 
gS\ 
(A) ljdkj dh ‘kfDr;ksa dk ladsUnz.k 
(B) dBksj lafo/kku 
(C) fyf[kr lafo/kku 
(D) lafo/kku dh loksZPprk 

31. The emergency provisions in the Indian 
constitution are taken from which of the following 
sources? 
(A)   Constitution of German 
(B) Constitution of Japan 
(C) Constitution of Russia 
(D) Constitution of South Africa 

 31. Hkkjrh; lafo/kku esa vkikrdkyhu izko/kku fuEufyf[kr esa 
ls fdl lzksr ls fy, x, gSa\ 
(A) teZu lafo/kku 
(B) tkiku dk lafo/kku 
(C) :l dk lafo/kku 
(D) nf{k.k vÝhdk dk lafo/kku 

32. Who proclaims national emergency? 
(A)   President of India 
(B) Prime Minister of India 
(C) Council of Minister 
(D) Home Minister 

 32. jk"Vªh; vkikrdky dh ?kks”k.kk dkSu djrk gS\ 
(A) Hkkjr ds jk”Vªifr 
(B) Hkkjr ds iz/kkuea=h 
(C) ea=hifj”kn 
(D) xg̀ea=h 

33. Which of the following features is not related with 
Indian constitution? 
(A)   Written constitution 
(B) World’s lengthiest constitution 
(C) Dual citizenship 
(D) Secular state 

 33. fuEufyf[kr esa ls dkSu lh fo’ks”krk Hkkjrh; lafo/kku ls 
lacaf/kr ugha gS\ 
(A) fyf[kr lafo/kku 
(B) nqfu;k dk lcls fo’kky lafo/kku 
(C) nksgjh ukxfjdrk 
(D) /keZfujis{k jkT; 

34. A proclamation of emergency may be revoked by 
the president- 
(A)   Only after one month 
(B) Only after 3 months 
(C) As per supreme court orders 
(D) At any time 

 34. vkikrdky dh mn~?kks”k.kk jk”Vªifr }kjk jn~n dh tk 
ldrh gS& 
(A) dsoy ,d eghus ds ckn 
(B) dsoy 3 eghus ds ckn 
(C) lqizhe dksVZ ds vkns’k ds vuqlkj 
(D) fdlh Hkh le; 

35. According to supreme court decision in S.R. 
Bommai v. Union of India, the constitution of India 
is- 
(A)   Federal 
(B) Quasi federal 
(C) Co-operative union 
(D) None of the above 

 35. ,l-vkj- cksEebZ cuke Hkkjr la?k] esa loksZPp U;k;ky; ds 
fu.kZ; ds vuqlkj Hkkjr dk lafo/kku gS& 
(A) la?kh; 
(B) v/kZla?kh; 
(C) lgdkjh la?k 
(D) bues ls dksbZ Hkh ugha 

36. Which of the following countries have bicameral 
legislature? 
(A)   India and USA 
(B) Germany and Canada 
(C) Mexico and Switzerland 
(D) All of the above 

 36. fuEufyf[kr esa ls fdl ns’k esa f}lnuh; fo/kkf;dk gS\ 
(A) Hkkjr vkSj ;w,l, 
(B) teZuh vkSj dukMk 
(C) esfDldks vkSj fLoV~t+jySaM 
(D) mijksDr lHkh 
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37. P.A. Sangma V. Pranab Mukherjee (2013) case 
was decided by the supreme court- 
(A)   Unanimously 
(B) By a majority of 3:2 
(C) By a majority of 6:1 
(D) By a majority of 4:1 

 37. ih-,- laxek cuke iz.kc eq[kthZ ¼2013½ ekeys dk QSlyk 
mPpre U;k;ky; us&&&fd;k Fkk- 
(A) loZlEefr ls  
(B) 3%2 ds cgqer ls 
(C) 6%1 ds cgqer ls 
(D) 4%1 ds cgqer ls 

38. Who said that ‘democracy is experiment in 
government’? 
(A)   Lincoln 
(B) Lowell 
(C) Selley 
(D) None of the above 

 38. fdlus dgk fd ^yksdra= ljdkj esa iz;ksx gS*\ 
(A) fyadu 
(B) yksosy 
(C) lsyh 
(D) bues ls dksbZ Hkh ugha 

39. In which of the following systems the head of 
state and head of government both are different? 
(A)   Parliamentary system 
(B) Presidential system 
(C) Both (A) and (B) 
(D) None of the above 

 39. fuEufyf[kr esa ls fdl iz.kkyh esa jkT; dk izeq[k vkSj 
ljdkj dk izeq[k nksuksa vyx &vyx gksrs gSa\ 
(A) lalnh; iz.kkyh 
(B) jk”Vªifr iz.kkyh 
(C) (A) vkSj (B) nksuksa  
(D) buesa ls dksbZ Hkh ugha 

40. Who was the constitutional advisor to constituent 
assembly of India? 
(A)   B.N. Rau 
(B) B.R. Ambedkar 
(C) Mahatma Gandhi 
(D) Sardar patel 

 40. Hkkjrh; lafo/kku lHkk ds laoS/kkfud lykgdkj dkSu Fks\ 
(A) ch-,u- jko 
(B) ch-vkj- vEcsMdj 
(C) egkRek xka/kh 
(D) ljnkj iVsy 

41. Which of the following is authorised to legislate on 
entries of Union List? 
(A)   Indian parliament 
(B) State Legislatures 
(C) Indian parliament and state legislatures 

both 
(D) None of the above 

 41. fuEufyf[kr esa ls dkSu la?k lwph dh izfof”V;ksa ij dkuwu 
cukus ds fy, vf/kd̀r gS\ 
(A) Hkkjrh; laln 
(B) jkT; fo/kkueaMy 
(C) Hkkjrh; laln vkSj jkT; fo/kkueaMy nksuksa 
(D) buesa ls dksbZ Hkh ugha 

42. Jaya Bachchan v. Union of India is a leading case 
on- 
(A)   Office of profit 
(B) Right to livelihood 
(C) Rights of Prime Minister 
(D) Status of President of India 

 42. t;k cPpu cuke Hkkjr la?k ,d izeq[k ekeyk gS& 
(A) ykHk dk in 
(B) vkthfodk dk vf/kdkj 
(C) iz/kkuea=h ds vf/kdkj 
(D) Hkkjr jk”Vªifr dh fLFkfr 

43. Residuary powers are vested in- 
(A)   Executive 
(B) Judiciary 
(C) Parliament 
(D) State legislatures 

 43. vof'k”V ‘kfDr;k¡ fufgr gSa& 
(A) dk;Zikfydk esa 
(B) U;k;ikfydk esa 
(C) laln esa 
(D) jkT; fo/kkueaMy esa 

44. ‘What cannot be done directly cannot be done 
indirectly’. This statement relates to which of the 
following doctrines? 
(A)   Doctrine of severability 
(B) Doctrine of colourable legislation 
(C) Doctrine of pith and substance 
(D) Doctrine of implied power 

 44. ^tks izR;{k rkSj ij ugha fd;k tk ldrk og vizR;{k :Ik 
ls ugha fd;k tk ldrk* ;g dFku fdl fl)kar ls 
lacaf/kr gS\ 
(A) ìFkDdj.k dk fl)kar 
(B) vkHkklh fo/kk;u dk fl)kar 
(C) lkj vkSj rRo dk fl)kar 
(D) foof{kr ‘kfDr dk fl)kar 
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45. Doctrine of pith and substance was followed by 
the privy council in which case? 
(A)   Profulla Kumar Mukherjee v. Bank of 

Khulna 
(B) State of Bihar v. Kameshwar singh 
(C) A.K. Roy v. Union of India 
(D) None of the above 

 45. lkj vkSj rRo ds fl)kar dk ikyu fizoh dkmafly }kjk 
fdl ekeys esa fd;k x;k Fkk\ 
(A) izksQqYyk dqekj eq[kthZ cuke cSad vkWQ [kqyuk 
(B) fcgkj jkT; cuke dkes’oj flag 
(C) ,-ds- jkW; cuke Hkkjr la?k 
(D) buesa ls dksbZ ugha 

46. Who was the first Lok sabha speaker? 
(A)   Virendra kumar 
(B) Ganesh vasudev mavalankar 
(C) Thambi Durai 
(D) Rameshwar Sharma 

 46. izFke yksdlHkk v/;{k dkSu Fks\ 
(A) ohjsUnz dqekj 
(B) x.ks’k oklqnso ekoyadj 
(C) FkEch nqjbZ 
(D) jkes’oj ‘kekZ 

47. The doctrine of territorial nexus is related with of 
the following articles? 
(A)   Article 13 
(B) Article 211 
(C) Article 245 
(D) Article 300 

 47. {ks=h; lEcU/k dk fl)kar fuEufyf[kr fdl vuqPNsn ls 
lacaf/kr gS\ 
(A) vuqPNsn 13 
(B) vuqPNsn 211 
(C) vuqPNsn 245 
(D) vuqPNsn 300 

48. Who administers oath to president of India? 
(A)   The chief justice of India 
(B) The chief election commissioner of India 
(C) The vice president of India 
(D) There is no need to administer oath 

 48. Hkkjr ds jk”Vªifr dks ‘kiFk dkSu fnykrk gS\ 
(A) Hkkjr ds eq[; U;k;k/kh’k 
(B) Hkkjr ds eq[; pquko vk;qDr 
(C) Hkkjr ds mijk”Vªifr 
(D) ‘kiFk fnykus dh dksbZ t:jr ugha 

49. The concurrent list is termed as a ‘twilight zone’ 
by- 
(A)   D.D. Basu 
(B) Pyle 
(C) J.N. Pandey 
(D) Austin 

 49. leorhZ lwph dks ‘twilight zone’&&&&}kjk dgk x;k gS& 
(A) Mh-Mh- clq 
(B) ik;yh 
(C) ts-,u- ikaMs; 
(D) vkWfLVu  

50. Matters enumerated in list III in the seventh 
schedule of the constitution can be legislated by- 
(A)   Parliament 
(B) State legislatures 
(C) Parliament and state legislature 
(D) President 

 50. lafo/kku dh lkroha vuqlwph dh lwph IIIesa of.kZr ekeyksa 
ij fdlds }kjk dkuwu cuk;k tk lerk gS\  
(A) laln 
(B) jkT; fo/kkueaMy 
(C) laln vkSj jkT; fo/kkueaMy 
(D) jk”Vªifr 

51. Which of the following is not a constitutional post? 
(A)   Prime Minister of India 
(B) Solicitor general of India 
(C) President of India 
(D) None of the above 

 51. fuEufyf[kr esa ls dkSu ,d laoS/kkfud in ugha gS\ 
(A) Hkkjr ds iz/kkuea=h 
(B) Hkkjr ds lkWfyflVj tujy 
(C) Hkkjr ds jk”Vªifr 
(D) bueas ls dksbZ Hkh ugha 

52. Rajya Sabha is also known as- 
(A)   Upper House 
(B) Council of States 
(C) Second Chamber of Parliament 
(D) All of the above 

 52. jkT; lHkk dks bl uke ls Hkh tkuk tkrk gS& 
(A) mPp lnu 
(B) dkSafly vkWQ+ LVsV~l 
(C) laln dk nwljk lnu 
(D) mijksDr lHkh 

53. Under Article 245 the power of legislature to enact 
laws is  
(A)   Incomplete 
(B) Restricted 
(C) Plenary 
(D) Temporary 

 53. vuqPNsn 245 ds rgr dkuwu cukus dh fo/kkf;dk dh 
‘kfDr gS& 
(A) viw.kZ 
(B) oftZr 
(C) foLrr̀ 
(D) vLFkk;h 
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54. Who said that ‘Indian constitution is a federation 
with a strong centralising tendency’? 
(A)   Wheare 
(B) Jennings 
(C) Austin 
(D) None of the above 

 54. fdlus dgk Fkk fd ^Hkkjrh; lafo/kku ,d etcwr 
dsanzh;dj.k izòfr okyk la?k gS*\ 
(A) Ogs;js 
(B) tsfuaXl 
(C) vkWfLVu 
(D) buesa ls dksbZ Hkh ugha 

55. “The election to the House of people and the 
legislative assembly of every state shall be on the 
basis of adult suffrage.” This has been provided in 
the constitution under- 
(A)   Article 324 (5) 
(B) Article 325 
(C) Article 326 
(D) Article 329 

 55. ^^yksdlHkk vkSj izR;sd jkT; dh fo/kku lHkk dk pquko 
o;Ld erkf/kdkj ds vk/kkj ij gksxkA** ;g lafo/kku 
ds&&&&&esa iznku fd;k x;k gS- 
(A) vuqPNsn 324 ¼5½ 
(B) vuqPNsn 325 
(C) vuqPNsn 326 
(D) vuqPNsn 329 

56. Who was the first woman speaker of the Lok 
Sabha? 
(A)   Sucheta Kriplani 
(B) Indira Gandhi 
(C) Meira Kumar 
(D) None of the above 

 56. yksdlHkk dh igyh efgyk Lihdj dkSu Fkh\ 
(A) lqpsrk d̀iykuh 
(B) bafnjk xka/kh 
(C) ehjk dqekj 
(D) bues ls dksbZ Hkh ugha 

57. In Rajya sabha, twelve members are nominated 
by the president having special knowledge or 
practical experience in respect of 
(A)   Literature, law, art and social service 
(B) Literature, science, art and social service 
(C) Literature, science, culture and social 

service 
(D) Literature, science, art and culture 

 57. jkT; lHkk esa ckjg lnL;ksa dks jk”Vªifr }kjk euksuhr 
fd;k tkrk gS ftUgsa&&&&ds laca/k esa fo’ks”k Kku ;k 
O;kogkfjd vuqHko gksrk gS- 
(A) lkfgR;] dkuwu] dyk vkSj lekt lsok 
(B) lkfgR;] foKku] dyk vkSj lekt lsok 
(C) lkfgR;] foKku] laLd̀fr vkSj lekt lsok 
(D) lkfgR;] foKku] dyk vkSj laLd̀fr 

58. Which of the following constitution is considered 
as federal constitution?  
(A)   American constitution 
(B) Chinese constitution 
(C) British constitution 
(D) All of the above 

 58. 
 
 

fuEufyf[kr esa ls dkSu lk lafo/kku la?kh; lafo/kku ds :Ik 
esa ekuk tkrk gS\  
(A) vesfjdh lafo/kku 
(B) phuh lafo/kku 
(C) fczfV’k lafo/kku 
(D) mijksDr lHkh 

59. In Indira Nehru Gandhi V. Raj Narain, the 
constitutional validity of which constitutional 
amendment was challenged? 
(A)   Constitution (21st Amendment) Act 
(B) Constitution (25th Amendment) Act  
(C) Constitution (29thAmendment) Act  
(D) Constitution (39th Amendment) Act  

 59. bafnjk usg: xka/kh cuke jkt ukjk;.k esa fdl laoS/kkfud 
la’kks/ku dh laoS/kkfud oS/krk dks pqukSrh nh xbZ Fkh\ 
(A) lafo/kku ¼21oka la’kks/ku½ vf/kfu;e 
(B) lafo/kku ¼25oka la’kks/ku½ vf/kfu;e  
(C) lafo/kku ¼29oka la’kks/ku½ vf/kfu;e  
(D) lafo/kku ¼39oka la’kks/ku½ vf/kfu;e 

60. Special procedure in respect of Money Bills is 
given in which article of the Indian constitution? 
(A)   Article 107 
(B) Article 108  
(C) Article 109  
(D) Article 110  

 60. Hkkjrh; lafo/kku ds fdl vuqPNsn esa /ku fo/ks;dksa ds 
laca/k esa fo’ks”k izfØ;k nh xbZ gS\ 
(A) vuqPNsn 107 
(B) vuqPNsn 108  
(C) vuqPNsn 109  
(D) vuqPNsn 110  

61. Which one of the following is considered as a 
supreme source of power? 
(A)   Supreme court of India 
(B) Parliament of India 
(C) President of India 
(D) Constitution of India 

 61. fuEufyf[kr esa ls fdls ‘kfDr dk loksZPp lzksr ekuk tkrk 
gS\ 
(A) Hkkjr dk loksZPp U;k;ky; 
(B) Hkkjr dh laln 
(C) Hkkjr ds jk”Vªifr 
(D) Hkkjr dk lafo/kku 
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62. Under Article 249 of the constitution parliament is 
empowered to legislate with respect to matters in 
the state list in the- 
(A)   Public Interest 
(B) Social Interest 
(C) National Interest 
(D) In all the above 

 62. lafo/kku ds vuqPNsn 249 ds rgr laln dks&&&&jkT; 
lwph esa ekeyksa ds laca/k esa dkuwu cukus dk vf/kdkj gS- 
(A) lkoZtfud fgr esa 
(B) lkekftd fgr esa 
(C) jk”Vªh; fgr esa 
(D) mijksDr lHkh esa 

63. Proclamation of financial emergency means 
proclamation made under- 
(A)   Article 352 of the constitution 
(B) Article 356 of the constitution  
(C) Article 360 of the constitution 
(D) All of the above 

 63. foÙkh; vkikrdky dh mn~?kks”k.kk dk vFkZ gS&&&&ds rgr 
dh xbZ mn~?kks”k.k- 
(A) lafo/kku ds vuqPNsn 352 
(B) lafo/kku ds vuqPNsn 356  
(C) lafo/kku ds vuqPNsn 360  
(D) mijksDr lHkh 

64. Which one of the following provision of the 
constitution imposes a duty on centre to ensure 
that government of the state is carrying on in 
accordance with the provisions of the 
constitution? 
(A)   Article 352 
(B) Article 355 
(C) Article 353  
(D) Article 358 

 64. lafo/kku ds fuEufyf[kr esa ls dkSu lk izko/kku dsanz 
ljdkj ij ;g lqfuf’pr djus ds fy, ,d drZO; 
vf/kjksfir gS fd jkT; dh ljdkj lafo/kku ds izko/kkuksa ds 
vuqlkj py jgh gS\ 
(A) vuqPNsn 352 
(B) vuqPNsn 355  
(C) vuqPNsn 353  
(D) vuqPNsn 358  

65. State emergency is popularly known as- 
(A)   Financial Emergency 
(B) Governor’s Rule 
(C) President’s Rule 
(D) None of the above 

 65. jkT; vkikrdky dks yksdfiz; :Ik esa&&&ds uke ls tkuk 
tkrk gS& 
(A) foÙkh; vkikrdky 
(B) jkT;iky ‘kklu 
(C) jk”Vªifr ‘kklu 
(D) buesa ls dksbZ Hkh ugha 

66. The proclamation of emergency under Article 352 
must be approved by both the Houses of 
parliament within--------from the date of issue. 
(A)   One month 
(B) Two months 
(C) Three months 
(D) Six months 

 66. vuqPNsn 352 ds rgr vkikrdky dh mn~?kks”k.kk dks laln 
ds nksuksa lnuksa }kjk tkjh gksus dh rkjh[k ls&&&&ds 
Hkhrj vuqeksfnr fd;k tkuk pkfg,A 
(A) ,d eghuk 
(B) nks eghus 
(C) rhu eghus 
(D) Ng eghus 

67. House of the people may be dissolved by- 
(A)   Prime Minister 
(B) President 
(C) Chief Justice of India 
(D) Lok Sabha speaker 

 67. yksd lHkk&&&&}kjk Hkax dh tk ldrh gS- 
(A) iz/kkuea=h 
(B) jk”Vªifr 
(C) Hkkjr ds eq[; U;k;k/kh’k 
(D) yksdlHkk v/;{k 

68. Who is the present prime minister of India? 
(A)   Narendra Damodardas Modi 
(B) Sushil Modi 
(C) Manmohan Singh 
(D) None of the above 

 68. Hkkjr ds orZeku iz/kkuea=h dkSu gSa\ 
(A) ujsanz nkeksnjnkl eksnh 
(B) lq’khy eksnh 
(C) eueksgu flag 
(D) bues ls dksbZ Hkh ugha 

69. Under the constitution, emergency in India cannot 
be declared for- 
(A)   Legislative emergency 
(B) State emergency 
(C) Financial emergency 
(D) National emergency 

 69. lafo/kku ds rgr] Hkkjr esa vkikrdky dh ?kks”k.kk&&&&ds 
fy, ugha dh yk ldrh gS- 
(A) fo/kk;h vkikrdky 
(B) jkT; vkikrdky 
(C) foÙkh; vkikrdky 
(D) jk”Vªh; vkikrdky 
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70. Scope of Article 356 was examined in the case- 
(A)   S.R. Bommai v. Union of India 
(B) Sankari Prasad v. Union of India 
(C) Minerva Mills Ltd. V. Union of India 
(D) U.N. Rao v. Indira Gandhi 

 70. &&&&ekeys esa vuqPNsn 356 ds nk;js dh tkap dh xbZ 
Fkh- 
(A) ,l-vkj- cksEebZ cuke Hkkjr la?k 
(B) ‘kadjh izlkn cuke Hkkjr la?k 
(C) feuokZ feYl fyfeVsM cuke Hkkjr la?k 
(D) ;w-,u- jko cuke bafnjk xka/kh 

71. Which of the following is not a qualification to be 
elected as the president of India? 
(A)   He should be citizen of any country. 
(B) He should complete 35 years of age. 
(C) He should be qualified to be elected as 

member of Lok Sabha. 
(D) He should not hold office of profit. 

 71. fuEufyf[kr esa ls dkSu Hkkjr ds jk”Vªifr ds :Ik esa pqus 
tkus dh ;ksX;rk ugha gS\ 
(A) mls fdlh Hkh ns’k dk ukxfjd gksuk pkfg,A 
(B) mUgsa 35 o”kZ dh vk;q iwjh djuh gksxhA 
(C) mls yksdlHkk ds lnL; ds :Ik esa pqus tkus ds 

fy, ;ksX; gksuk pkfg,A 
(D) mls ykHk ds in ij ugha jguk pkfg,A 

72. The Indian parliament consists- 
(A)   Vidhan Sabha, Rajya Sabha and president 
(B) Lok Sabha, Vidhan Parishad and president 
(C) Lok Sabha, Rajya Sabha and Governor 
(D) Lok Sabha, Rajya Sabha and President 

 72. Hkkjrh; laln esa ‘kkfey gSa& 
(A) fo/kkulHkk] jkT;lHkk vkSj jk”Vªifr 
(B) yksdlHkk] fo/kku ifj”kn vkSj jk”Vªifr 
(C) yksdlHkk] jkT;lHkk vkSj jkT;iky 
(D) yksdlHkk] jkT;lHkk vkSj jk”Vªifr 

73. Generally, the tenure of Lok Sabha is- 
(A)   2 years 
(B) 4 years  
(C) 5 years  
(D) 6 years  

 73. lkekU; rkSj ij yksdlHkk dk dk;Zdky gksrk gS& 
(A) 2 o”kZ 
(B) 4 o”kZ  
(C) 5 o”kZ  
(D) 6 o”kZ  

74. Cabinet is the smaller body of the council of 
Ministers. This statement is- 
(A)   Correct 
(B) Incorrect 
(C) Partly correct 
(D) None of the above 

 74. eaf=eaMy eaf=ifj”kn dk NksVk fudk; gSA ;g dFku gS& 
(A) lR; 
(B) vlR; 
(C) vkaf’kd :Ik ls lR; 
(D) bues ls dksbZ Hkh ugha 

75. The council of ministers remains in office so long 
as it enjoys the confidence of- 
(A)   President 
(B) Lok Sabha 
(C) Lok Sabha Speaker 
(D) Prime Minister 

 75. eaf=ifj”kn rc rd vius in ij cuh jgrh gS tc rd 
mls fo’okl izkIr gS& 
(A) jk”Vªifr dk 
(B) yksdlHkk dk 
(C) yksdlHkk v/;{k dk 
(D) iz/kkuea=h dk 

76. The principle of ‘Collective responsibility’ has 
been incorporated in- 
(A)   Article 75 
(B) Article 74  
(C) Article 105  
(D) Article 53 

 76. ^lkewfgd mÙkjnkf;Ro* ds fl)kar dks&&&’kkfey fd;k 
x;k gS- 
(A) vuqPNsn 75 esa 
(B) vuqPNsn 74 esa 
(C) vuqPNsn 105 esa 
(D) vuqPNsn 53 esa 

77. Which of the following fundamental rights cannot 
be suspended when a proclamation of emergency 
is in operation? 
(A)   Article 20 and Article 21 
(B) Article 19 and Article 21  
(C) Article 32 and Article 226  
(D) Article 19 and Article 20 

 77. Tkc vkikrdky dh mn~?kks”k.kk py jgh gks rks fuEufyf[kr 
esa ls dkSu lk ekSfyd vf/kdkj fuyafcr ugha fd;k tk 
ldrk gS\ 
(A) vuqPNsn 20 vkSj vuqPNsn 21 
(B) vuqPNsn 19 vkSj vuqPNsn 21  
(C) vuqPNsn 32 vkSj vuqPNsn 226  
(D) vuqPNsn 19 vkSj vuqPNsn 20 
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78. A system in which the state plays a key role in the 
protection and promotion of the economic and 
social well-being of its citizens is called- 
(A)   Welfare state 
(B) Feudalism 
(C) Communism 
(D) None of the above 

 78. og iz.kkyh ftlesa jkT; vius ukxfjdksa ds vkfFkZd vkSj 
lkekftd dY;k.k ds laj{k.k vkSj lao/kZu esa egRoiw.kZ 
Hkwfedk fuHkkrk gS] dgykrh gS& 
(A) dY;k.kdkjh jkT; 
(B) lkearokn 
(C) lkE;okn 
(D) bues ls dksbZ Hkh ugha 

79. As per the provisions of the Indian constitution, 
India is a- 
(A)   Federation 
(B) Co- federation 
(C) Quasi federation 
(D) Union 

 79. Hkkjrh; lafo/kku ds izko/kkuksa ds vuqlkj] Hkkjr 
,d&&&&gS- 
(A) QsMjs’ku 
(B) lg&la?k 
(C) v/kZ la?k 
(D) la?k 

80. Which of the following differs Indian federation 
from American federation? 
(A)   Distribution of powers 
(B) Written constitution 
(C) Single citizenship 
(D) All of the above 

 80. fuEufyf[kr esa ls dkSu Hkkjrh; la?k dks vesfjdh la?k ls 
vyx djrk gS\ 
(A) ‘kfDr;ksa dk forj.k 
(B) fyf[kr lafo/kku 
(C) ,dy ukxfjdrk 
(D) mijksDr lHkh 

81. Which of the following Union Territory has 
representation in Rajya Sabha? 
(A)   Delhi, Puducherry and Jammu and Kashmir 
(B) Ladakh, Lakshadweep and Jammu and 

Kashmir 
(C) Delhi, Lakshadweep and Jammu and 

Kashmir 
(D) Delhi, Chandigarh and Jammu and 

Kashmir 

 81. fuEufyf[kr esa ls fdl dsanz ‘kkflr izns’k dk jkT;lHkk esa 
izfrfuf/kRo gS\ 
(A) fnYyh] iqMqpsjh vkSj tEew vkSj d’ehj 
(B) yn~nk[k] y{kn~ohi vkSj tEew vkSj d’ehj 
(C) fnYyh] y{kn~ohi vkSj tEew vkSj d’ehj 
(D) fnYyh] paMhx<+ vkSj tEew vkSj d’ehj 

82. The case of state of Bihar v. kameshwar singh is 
related with which of the following doctrines? 
(A)   Doctrine of Basic structure 
(B) Doctrine of Eclipse 
(C) Doctrine of pith and substance 
(D) Doctrine of colourable Legislation 

 82. fcgkj jkT; cuke dkes’oj flag dk ekeyk fuEufyf[kr esa 
ls fdl fl)kar ls lacaf/kr gS\ 
(A) ewyHkwr <kapk dk fl)kar 
(B) xzg.k dk fl)kar 
(C) lkj vkSj rRo dk fl)kar 
(D) vkHkklh fo/kk;u dk fl)kar 

83. The distribution of legislative powers under the 
Indian constitution is provided with respect to- 
(A)   Subject matter only 
(B) Territory only 
(C) Subject matter and territory both 
(D) None of the above 

 83. Hkkjrh; lafo/kku ds rgr fo/kk;h ‘kfDr;ksa dk forj.k 
iznku fd;k x;k gS- 
(A) dsoy fo”k; oLrq lEcU/kh 
(B) dsoy {ks= lEcU/kh 
(C) fo”k; oLrq vkSj {ks= lEcU/kh nksuksa 
(D) buesa ls dksbZ Hkh ugha 

84. Decision on questions of disqualification of 
members of parliament is taken by president after 
obtaining the opinion of- 
(A)   Supreme court of India 
(B) Concerned High court 
(C) Prime Minister 
(D) None of the above 

 84. Lakln ds lnL;ksa dh v;ksX;rk ds iz’uksa ij fu.kZ; jk”Vªifr 
}kjk fdldh jk; izkIr djus ds ckn fy;k tkrk gS\ 
(A) Hkkjr dk loksZPp U;k;ky; 
(B) lacaf/kr mPp U;k;ky; 
(C) iz/kkuea=h 
(D) bues ls dksbZ Hkh ugha 

85. Which of the following Bill cannot be introduced in 
Rajya Sabha? 
(A)   General Bill 
(B) Financial Bill 
(C) Money Bill 
(D) All of the above 

 85. fuEufyf[kr esa ls dkSu lk fo/ks;d jkT;lHkk esa is’k ugha 
fd;k tk ldrk gS\ 
(A) lkekU; fo/ks;d 
(B) foÙkh; fo/ks;d 
(C) /ku fo/ks;d 
(D) mijksDr lHkh 
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86. The Rajya sabha is not subject to dissolution, one 
third of the members retires every- 
(A)   Second year 
(B) Third year 
(C) Fifth year 
(D) Every year 

 86. jkT;lHkk fo?kVu ds v/khu ugha gS] blds ,d frgkbZ 
lnL; izR;sd&&&&lsokfuòÙk gks tkrs gSa- 
(A) f}rh; o”kZ 
(B) rhljk o”kZ 
(C) ikapoka o”kZ 
(D) gj o”kZ 

87. Which of the following authorities is competent to 
seek advisory opinion of the supreme court of 
India? 
(A)   President of India 
(B) Parliament of India 
(C) Governor of India 
(D) Council of Ministers 

 87. fuEufyf[kr esa ls dkSu lk izkf/kdkjh Hkkjr ds loksZPp 
U;k;ky; dh lykgdkjh jk; ysus ds fy, l{ke gS\ 
(A) Hkkjr ds jk”Vªifr 
(B) Hkkjr dh laln 
(C) Hkkjr ds jkT;iky 
(D) eaf=ifj”kn 

88. Which of the following schedule deals with anti-
defection law in India? 
(A)   7th Schedule 
(B) 6th Schedule  
(C) 9th Schedule  
(D) 10th Schedule  

 88. fuEufyf[kr esa ls dkSu lh vuqlwph Hkkjr esa nycny 
fojks/kh dkuwu ls lacaf/kr gS\ 
(A) 7oha vuqlwph 
(B) 6oha vuqlwph 
(C) 9oha vuqlwph 
(D) 10oha vuqlwph 

89. Courts not to inquire into proceedings of 
parliament is provided in which article of the 
Indian constitution? 
(A)   Article 120 
(B) Article 121 
(C) Article 122  
(D) Article 123  

 89. U;k;ky;ksa dk laln dh dk;Zokgh dh tkap u djus ds 
fy, izko/kku Hkkjrh; lafo/kku ds fdl vuqPNsn esa fd;k 
x;k gS\ 
(A) vuqPNsn 120 
(B) vuqPNsn 121  
(C) vuqPNsn 122  
(D) vuqPNsn 123  

90. “Prime Minister” itself is a separate class.” This 
was laid down in which of the following cases? 
(A)   Ram Prasad v. State of Bihar 
(B) R.K. Garg v. Union of India 
(C) State of M.P. v. G.C. Mandavar 
(D) P.V. Shastri v. Union of India 

 90. ^^iz/kkuea=h vius vki esa ,d vyx oxZ gSA** ;g 
fuEufyf[kr esa ls fdl ekeys esa fu/kkZfjr fd;k x;k Fkk\ 
(A) jke izlkn cuke fcgkj jkT; 
(B) vkj-ds- xxZ cuke Hkkjr la?k 
(C) e-iz- jkT; cuke th-lh- eaMkojh 
(D) ih-oh- ‘kkL=h cuke Hkkjr la?k 

91. In India, the Prime Minester is- 
(A)   Elected 
(B) Selected 
(C) Nominated 
(D) Appointed 

 91. Hkkjr esa iz/kkuea=h& 
(A) pqus tkrs gS 
(B) p;fur gksrs gS 
(C) ukfer gksrs gS 
(D) fu;qDr gksrs gS 

92. The power of the president of India to issue an 
ordinance is a- 
(A)   Legislative power 
(B) Executive power 
(C) Judicial power 
(D) Quasi-Judicial power 

 92. v/;kns’k tkjh djus dh Hkkjr ds jk”Vªifr dh ‘kfDr 
,d&&&&gS- 
(A) fo/kk;h ‘kfDr 
(B) dk;Zdkjh ‘kfDr 
(C) U;kf;d ‘kfDr 
(D) v/kZ&U;kf;d ‘kfDr 

93. The minimum age required to become the prime 
minister of India is- 
(A)   30 years 
(B) 35 years  
(C) 25 years  
(D) 40 years  

 93. Hkkjr ds iz/kku ea=h cuus ds fy, vko’;d U;wure vk;q 
gS& 
(A) 30 lky 
(B) 35 o”kZ 
(C) 25 lky 
(D) 40 lky 
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94. Which Article of the constitution of India 
empowers President to promulgate ‘ordinances’ 
during recess of parliament? 
(A)   Article 123 
(B) Article 132  
(C) Article 213  
(D) Article 368  

 94. Hkkjr ds lafo/kku dk dkSu lk vuqPNsn jk”Vªifr dks laln 
ds vodk’k ds nkSjku ^v/;kns’k* tkjh djus dk vf/kdkj 
nsrk gS\ 
(A) vuqPNsn 123 
(B) vuqPNsn 132  
(C) vuqPNsn 213  
(D) vuqPNsn 368  

95. Which of the following is a part of the Electoral 
college for the election of the president but does 
not participte in the procedings for his/her 
impeachment? 
(A)   Lok Sabha 
(B) Rajya Sabha 
(C) State Legislative Assemblies 
(D) State Legislative councils 

 95. fuEufyf[kr esa ls dkSu jk”Vªifr ds pquko ds fy, 
bysDVksjy dkWyst dk fgLlk gS] ysfdu muds egkfHk;ksx 
dh dk;Zokgh esa Hkkx ugha ysrk gS\ 
(A) yksdlHkk 
(B) jkT; lHkk 
(C) jkT; fo/kku lHkk,a 
(D) jkT; fo/kku ifj”knsa 

96. A Money Bill may be detained by the Rajya 
Sabha for a maximum of- 
(A)   7 days 
(B) 12 days 
(C) 14 days 
(D) 21 days 

 96. ,d /ku fo/ks;d dks jkT; lHkk }kjk vf/kdre&&&&ds 
fy, jksdk tk ldrk gS- 
(A) 7 fnu 
(B) 12 fnu 
(C) 14 fnu 
(D) 21 fnu 

97. A Bill which contains only matters mentioned in 
Article 110 (1) is known as- 
(A)   Financial Bill 
(B) Money Bill 
(C) General Bill 
(D) All of the above 

 97. ,d fo/ks;d ftlesa dsoy vuqPNsn 110 ¼1½ esa 
mfYyf[krekeys gksrs gSa] mls dgk tkrk gS& 
(A) foÙkh; fo/ks;d 
(B) /ku fo/ks;d 
(C) lkekU; fo/ks;d 
(D) mijksDr lHkh 

98. Which of the following House is known as the 
Upper House of Indian Parliament? 
(A)   Lok Sabha 
(B) Rajya Sabha 
(C) Vidhan Sabha 
(D) None of the above 

 98. fuEufyf[kr esa ls fdl lnu dks Hkkjrh; laln ds mPp 
lnu ds :Ik esa tkuk tkrk gS\ 
(A) yksdlHkk 
(B) jkT; lHkk 
(C) fo/kkulHkk 
(D) bues ls dksbZ Hkh ugha 

99. The total number of Ministers, including the prime 
Minister in the council of Minister should not 
exceed:  
(A)   20% of the total number of members of lok 

sabha 
(B) 15% of the total number of members of lok 

sabha  
(C) 20% of the total number of members of 

rajya sabha 
(D) 15% of the total number of members of 

both the houses 

 99. eaf=ifj”kn esa iz/kkuea=h lfgr eaf=;ksa dh dqy 
la[;k&&&vf/kd ugha gksuh pkfg,- 
(A) yksdlHkk ds lnL;ksa dh dqy la[;k dk 20% ls 
(B) yksdlHkk ds lnL;ksa dh dqy la[;k dk 15% ls 
(C) jkT; lHkk ds lnL;ksa dh dqy la[;k dk 20% ls  
(D) nksuks lnuksa ds lnL;ksa dh dqy la[;k dk 15% ls  

100. Acticle 19 will be suspended during the 
proclamation of emergency only when the 
emergency is declared on the ground of- 
(A)   War or external aggression or armed 

rebellion 
(B) War or external aggression or internal 

disturbance 
(C) War or armed rebellion 
(D) War or external aggression 

 100. vuqPNsn 19 dks vkikrdky dh mn~?kks”k.kk ds nkSjku rHkh 
fuyafcr fd;k tk,xk tc vkikrdky dh ?kks”k.kk fdlds 
vk/kkj ij dh tkrh gS& 
(A) ;q) ;k ckgjh vkØe.k ;k l’kL= fonzksg 
(B) ;q) ;k ckgjh vkØe.k ;k vkarfjd v’kkafr 
(C) ;q) ;k l’kL= fonzksg 
(D) ;q) ;k ckgjh vkØe.k 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for the 

error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems correct 

to you, darken that option number in your Answer Booklet (O.M.R 

ANSWER SHEET) completely with black or blue ball point pen. If any 

examinee will mark more than one answer of a particular question, then 

the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, marks 

will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R ANSWER 

SHEET). Answer marked anywhere else other than the determined place will 

not be considered valid. 

5. Please read all the instructions carefully before attempting anything on Answer 

Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination 

room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the question 

booklet are printed properly in case there is an issue please ask the examiner to 

change the booklet of same series and get another one.  

 


